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Stitch Pattern:
Snood:
Fisherman’s Rib with 3 selvedge sts: (amount of 
sts multiple of 2 plus 6 selvedge sts)
3 Selvedge Sts:
At the beg of each row: k 1, sl 1 M p-wise wyif, k 1
At the end of each row: sl 1 p-wise wyif, k 1, sl 1 
p-wise wyif.
Row 1: 3 selvedge sts, * sl 1 p-wise with yo, k 1, 
rep from * to last 3 sts then work 3 selvedge sts.
Row 2: 3 selvedge sts, * sl 1 p-wise with yo, k 2 
tog (1 st plus the yo of previous row), rep from * 
cont to last 3 sts then work 3 selvedge sts.
Rep row 2 cont.
Hat:
Ribbing in rnds: (amount of sts multiple of 2)
Alt k 1, p 1 cont.
Fisherman’s Rib in Rnds: (amount of sts multiple 
of 4)
Rnd 1: * p 2, sl 1 p-wise with yo, p 1, rep from * cont.
Rnd 2: * p 2, k 2 tog (1 st plus the yo of previous 
row), rep from * cont.
These 2 rows establish the pattern. Rep cont.
Tension:
Snood: 10 sts and 22 rows to 10 cm meas. over 
Fisherman’s rib patt using size 9 mm needles or 
size needed to achieve given tension.
Hat: 9 sts and 18 rows to 10 cm meas. over Fis-
herman’s rib patt (in rnds) using size 8 mm need-
les or size needed to achieve given tension.
Instructions:
Snood:
Cast on 26 sts and work in Fisherman’s rib pat. 
Cont. straight until work meas. total of 130 cm 
ending with a WS row.
Next row: cast off all sts in patt without yo’s 
and working the yo’s of previous row tog with 
the corresponding slipped st. Close back seam 
(cast on edge to cast off edge) using back sti-
tch, or mattress stitch as preferred making sure 
to keep the seam flat and elastic. 

7 + 88 – 9

Difficulty level:

Size:
Snood: height: approx. 24 cm, 
circumference: approx. 130 cm
Hat: Circumference approx. 
53 cm – 57 cm
Usage:
Snood: approx. 300 g in 
col. 02 (rose)
Hat: approx.100 g in 
col. 02 (rose), 1 fur pompom from 
Gründl in col. 01 (white)

Quality:
Living (Gründl)
80 % Polyacrylic, 
20 % Polyamide
100 g / 110 m

Pattern
LIVING
Snood and Hat in Fisherman’s Rib Pattern

Needles:
Snood:� Hat: 

4 x 1 x
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Hat:
The hat is worked in rnds.
Using the smaller dpns cast on 56 sts and di-
vide the sts amongst the 4 needles (2 × 12 and 
2 × 16 sts). Join for working in the rnd, being 
careful not to twist sts work in rib patt.
Cont. for 8 rnds until work meas. 4 cm then 
change to larger dpns (8 mm). and work in 
Fisherman’s rib patt.
Cont in patt until work meas 18 cm from beg. = 
33 rnds.
Rnd 34: * p 1, k 2 tog (1 p st and 1 k st with it’s 
yo) p 1, rep from * to end of rnd. = 42 sts
Rnd 35: * p 1, sl 1 p-wise with yo, p 1, rep from * 
to end of rnd.
Rnd 36: * k 2 tog (1 p st and 1 k st with it’s yo), 
p 1, rep from * to end of rnd. = 28 sts
Rnd 37: * sl 1 p-wise with yo, p 1, rep from * to 
last st of rnd then k 2 tog (last st of this rnd 
and first st and yo of next rnd tog). = 27 sts
Rnd 38: * k 2 tog (1 p st and 1 k st with it’s yo), 
rep from * and end rnd with k 1. = 14 sts
Rnd 39: k 2 tog to end of rnd. = 7 sts
Break yarn and thread through the remaining 
7 sts and pull taught. Weave in ends. Sew on 
pompom to top of hat.

Abbreviations:
approx. = approximate(ly)  
beg = begin(ning)  
cm = centimetre(s)  
col = colour(s)  
cont = continue (continuously) 
dpn(s) = double pointed needle(s) (set of 5)  
g = gramme(s)  
k = knit  
m = metre(s)  
mm = millimetre(s)  
meas = measure(d)  
p = purl  
patt = pattern  
rep = repeat  
rnd(s) = round(s)  
sl = slip  
st(s) = stitch(es)  
tog = together  
wyif = with yarn in front of needle  
yo(s) = yarn over (needle)/ yarn round needle


